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Cirdle \incabwlary

|dentrfy the different Hypes of seqments & Lines in the oircle.

1.Cender Q_ﬁ
2. Rodwg AR
3. Dimmeter EF
4. Chord £,
5 S D
0. Tangnt G
1. Miner fire €B
$. Mdyr Are E\B\
9. Semicircle EDF

Let's msider A Circle where verbex meets inside the cirde ab the
center o{ the circle.

B e FIMA BD, m<BOD.

|
L‘V D inscribed; arc = Centra, angle
2

[ Find < BCD.
B = (nfercepted ar Find BD.
<I%&D-‘— centval am lcc & = % <by= <&gb—

IS [ 3 LOTNY
<B(D: th'Oh\DtA W@l’r w = 1(00 l(oba
<5(/D -_—i\
Conclnsion : Verkex that meets wside the circle af the cenber

Creates o Central angle. The inferceptedars b centval angle
This was created m%n mr L@[ﬂt\q\!&klv}%t@ﬂé for mo@%&ﬂL&a&liMﬁ%ﬁd M.



Angles {om fom Vertex nside o pelside Circle

Let's constder A Circle where vertex meets inside the cirde NIT ab the
center o{ the circle.

verfex. does ls there 4. relationship letweer

‘% not meet at the an\gle theide the circle Y the
I the cirgie. inbercepted. arc’t

Find o (elatimship between an angle firmed by a vertex mok i

the center & it inbercepted gre.
case . (INSIDE) = Add!
Vertex s Inside the Curcle (not af the cenber)

B
‘ c Inferepted e + Intercepbed Ae — Aot oF Inbaest
t 0' 5 A’!\\gl v{ N

3

M:GSFC

2
(Examples ) Fiid the unknmn(s),
Find m< CFE, L 11
BD rCe =< CFE
2
500+ &)Db: <CFE

_“_02 - <CFE

websitﬁor more information, lee-apcalculus.weebly.com.




i BE.
@ Fin ; g$° BE;@ - <DFE

h C  IE+54. o
NEY
1 PE+$1* -
be ‘

92°

@ Fird ol e missing parts of thecirde
R—§9°Neel b+ ol B, <CF, DFE, B <BRC.

\ c ﬁh&g o5 Find < CFE.
40 BD + BC+CE+DE =3p0° <(FE:= Bp+(E
\V Sep W r§P+90+R '3(00 2
t B + 223°: CEE DTS

. i = @ 2
Find < BEE/ <CFE ‘@
<BFE~ <GFE becanse they acverfind, M\zjles.

<BFE :

find < BEC.
<BFC+<CFE > 1" because they we o lincar pal

<BEC+ %P =4Q°
e -

Find <DFE.
%FE SW g ymme?}h%zm S%(&ksiwlﬂ&e information, lee-apcalculus.weebly.com.
<



case 2 (OUTSIDE) = Subtract!
Vertex is tutside the Circle (not af the cenber)

IO BNC)

Two Se¢ ants Two Tanﬁcnts One Secant Y
One Tan 5€h{;

Biager Arc — Smaller Are _ Dutside fngle ‘
i =

(Examgles) Find the unknpwn

(D Find <AER D&s,kﬁ“ﬂl& _gﬁﬁrc Small fire
d\EB CD- ﬁB
<AtB - M"
<AEB:= ng"

This was created by Keenan Xavier Lee - 2014. See my website for more information, lee-apcalculus.weebly.com.



Big firc - Small five. - Oufside Angle
2.

fc -4 = <fDB
-8B 23°
2.
}Oo_ﬁgjsq_o
_ﬁg):-
LR ED

@ Find all parts of the unknmns \n the circle -
Need b And m<CRD % CD.

find eb.
CD + CAD =3b0°
-D ™+ 260°=360°

e = jo0°

Fnd m<CBD.

240° Dibside fngle _ Big fire ~Small Ao

2.

m<<BD = CAD-CD
2

m<cCBD = 260° -100°

2
m<CBD =&

This was created by Keenan Xavier Lee - 2014. See my website for more information, lee-apcalculus.weebly.com.



Seqets fom fom Vertex Wnside i pulside Circle

let's falk abowt SEAMONT messures . ..
Chse .

Vertex (s Inside the Circle (noh af the conber)
0 a * b = c % d

(Examples) Find the unknown.

part % part = part  part

>

Find RE.
yart & part = part x part
% RE# CE = BE * DE
C w3 = gus
3L =24
Rt =§.
D

This was created by Keenan Xavier Lee - 2014. See my website for m

re information, lee-apcalculus.weebly.com.



Cdse 2
Verfex (s tutside the Circle (noh af the center)

@ ﬂ SV
7k ()
Two Secants Two Tangents Dne Secant Y

One T{Ahﬂev\{:
Dtside » wile = Duside+ whole|
L * (0\+L,) = A * (C'l‘d)

(Examgles) Find the unknown.
@ find CE.
Ouisidex whle = outside # whole
DF x BF = EF x CF _
6% 10 = 5 % (5+CE)
@0 = 5(S+CE)
@0 = 25+5CE
38 = SCE
) =&

This was created by Keenan Xavier Lee - 2014. See my website for more information, lee-apcalculus.weebly.com.



@ find .
outside % whole = gutzide * whele

\0 R L « = & « 7
0 *(+@)= 9 « 20
Q 10 (10+8) = 19
10+ 1067 = [%)
100P = %o
0f= 9

outside x whole - gutside * whole
S # 6 =4 %(4+cD)
25 = 1(4+@)
25 = o +4CD
9 = 40

-2 =0
22§-4_

@ Find AB. ofside x whole - gutside + whole
A 18500 mL o« B : &0«

B Fxib
RS = L2
NABE = Al

Ab = A2 = 47 = (0.€




O\A’tidex— whole = outside *V\)(\D(Le
X ) B AR * pfg o * B
{ T ~ 8 B B

o4 B

: s - 5

N n

—

BC.

nothu

This was created by Keenan Xavier Lee - 2014. See my website for more information, lee-apcalculus.weebly.com.



